0001864275318999

& 0—0 FERMKTFAYE 0—o——o>

2014 £ 55 3 [

%)
K

3| Bty =22 %2 C, y=—2?+2x+4% De¥ 3. EHLEMTEING D EOMPE, —12+2%+4)
BB DOBME L2 5. G _(x~1)e5

(D CEDMWHREB2/HTHDLDII%RL, TOx EEERD &,
(2) BEMLDSFHRE y= f(x) LT3, f(x) ek k.

(3) (DTKRDEL2EMD rFEfE%E a, b (a<b) T3, a<t<baEiEdtiz{L T, (2) TRk
LDNFER%E y= f(x) & T 5. RO ARLROETHEBOHFE S LT3,
i 2 5
y < flx)
y=—xl+2x+4

tha<t<bDOHFEzETHLE, SOMWEBRNEBZEDtDOME, TDOE XD S() Offiz ke k.

(1) XK'= (=xv2xt4) =0 &) x'—x-2z0 & (x-2(x+0) =0

:X=Z,—{ "‘/;’I(-‘té-/lg (2,4),("‘[,,)

-

(2) Y77 =2x+2 o f Y (=2t+2)(x-t) -T2t Y

S Y m2(t-0X+TT Y ‘-'f(x)z-z(z‘—l)xﬂfrz-rel

14

G) Ao XGar)EFE s fend . .
=2(1=1) T4t + 4 (L)
2

LA
Gox = /-t 2 ariatrs (e d B o(a<freac). Y

9

A42(t-Dx 140 A=

!

4 2 P -x° ; : y
S(f):L f(x)-zlo/x-f_(""*u” A dx v N> %

= _IP (x =) (x-f) dx +zf2 (=2)(xt1) 4
o =

= LopondZ 3
() g creford BB 9(Z-1)F¢3

£ (farrares) - ”
= 441+ ) -7

u




